ec 5.1 Systems oi Equations
(2 variables)

Determine if (-3,5) is a
solution to

Ox + 7y =8.
8x - 9y =-69

) +7(5)=38 ¢
ﬁz<7+’55 =87




Solve using the substitution method-

x =Gy + D 2x - 3‘[= 13

X =2y - 1 y
N 2%-3(2x1)="1




Solve using the a combination- Og’f‘@

QONE. (aka, addition, subtraction, TPy
3 \GITAECT  multiplication) RO

-X +8y =14




Solve using the a combination-

3x-7y =13)2— (oY —\4\/:2(0
6x + 5y = 7 _Q(O\(+C5y:7)

X,5:7 ’My: 9

p¥=12 «— y="1
X=2 —L -

A\
o (B




etermine the point of intersection-

(X _y 1
6 72 =3




You're solving a system...
...all the variables cancel and
a true statement
(i.e. 3 =3) remains...
\ﬂ‘FlhIJrcly man
You're solving a system.. O\U\hbns
...all the variables cancel and

a false statement
(i.e. 0 =2) remains...

no Solwhom
I
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Solutions-

1. solution
Bk ()

9. (-22,-5)
L5: (D4)
17 $Z:3)

19. (2,-1)

23. (-4,3)

29. (7/25,-1/25)
31. no solution
33. infinitelymany
solutions






